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a4 | N HE ) TS N #=H
a—F 2 SR | PR (kg) EM) | =@ o fi Sl PE (BAQT)
31100 H¥E 60 7,128| 1,296 1, 296 1,080 | BH 611
31200 |LH3E 6 821 43 22 22| BN 287
31700 ¥~ 10 216 216 216 216 | BN Ll
31700 F vy 140 13, 500 1,188 918 432 | BN 1447 — &
31800 1FHLAE 23 7,678 76 65 62 | B 1163
31950 HAE 8 2, 646 108 108 103 | BN 254%
31900 7 X 15 1, 890 216 162 65 &M 15kg
36800 HoX k9 10 6, 799 702 702 648 BN 10kg
34400 k= h 94 24, 408 292 259 238 BN 94kg
34270 Xy F¥F—= 6 2,106 70 70 70| BN 304
35210 AT U F SRHmE 3 810 270 270 270 BN 3kg
35220 XM ERHIE 18 8, 500 594 486 356 | BN 18kg
35300 bB—2 3 4, 147 1,296 1,296 1,296 &M 3kg
36303 R F v TEZIAED 13 2,905 270 270 54 1 BN 13kg
Y3115 Ex AL 1 281 216 216 216 | BN lkg
35400 ZF5HFE®D 12 3, 888 324 324 324 BN 12kg
Y3033  ZHIAL - 10 540 54 54 54 | B 10kg
Y3034 ZfZ3h 10 216 22 22 22 BH "10kg
Y3037 #LIZB A 30 972 32 32 32| B 30kg
36200 HEnE 70 15, 120 292 162 162 | B 70kg
36600 7mFhE 46 6,210 135 135 135 | BN 46kg
33410 Y =—1L & % 2 594 59 59 59 | BN 101#
33200 AU TTU— 3 551 140 140 65| B 5
33300 Tmy =) — 27 7,776 324 324 108 | & 27kg
Y3017 &tV 2 2,981 1,512 1,512 1,469 | BMN 2kg
Y3030 V&IEAE (%) 7 12, 312 1,944 1,944 1,296 | &M Tkg
36700 (ZAMZ< 235 2,020 24 6 5 BN 235 v b
41806 7= AD A 118 17,334 432 324 238 BN 59 > k
46108 XMIEDONEE 144 136, 739 324 292 248 | BN 480/% s 7
71011 A S L —%4 60, 210 43 43 22 | B 1, 5304
71150 LiT 2, 322 108 108 54 BH 3031
71160 B¥3E (¥) 7,150 59 49 43 1 BA 144K v
71207 BV a A 875 65 32 321 BH 20K
53456 | T= 7 7piE 4 1,555 389 389 389 | BN 4kg
Y5001 | RIRBENE 4 216 54 54 54 BN 4kg
Y5008 | /NEASEE 3 302 108 108 108 | B 3kg
Y3019 Ho b 7 16, 092 2,700 2, 160 2,052 | BN Tkg
Y5010 2b&sE (&) 5 3, 791 864 756 756 | BN 5kg
30100 72V Z A 2L 100 6, 156 76 54 54 | FEIR 1004
30300 A& 2L 100 11, 448 1,404 1, 080 1,080 | BB & 107 — 2
30300 AZ L : 50 8, 640 1,728 1,728 1,728 IR E 50—
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a— K| s Sk | B (kg) &4 (M) =l il il | PE M (BAT)
31100 B3¢ 135 5, 454 648 648 540 | = I 94— A
33500 BT X% L 1 259 22 22 22 | & [ 1248
33810 | FHAEE 4 2, 160 108 108 108 |FEIR B 204%
37440 | > \Wbiu 2 896 896 896 896 |EIR & 17— =&
Y5005 47KEAN 5 1,534 1,534 1,534 1,534 | K45y 17r—A
31700 | F ¥~ 50 2, 160 432 432 432 |BIR B 54—
31950 H#uax L 21 6, 048 864 864 864 | K4y 17—
31900 & 1, 080 108 108 108 |EEIR B 103K (500g)
31930 | ¥ 2, 268 43 43 RYAR 604%
32800 125 2,970 59 59 59 | = Ik 505
34300 729 15 6, 048 2,052 2, 052 1,944 HEA 37—
34400 | k= k 12 2, 160 1,080 540 540 | REAS 37—
34400 b~ b M 12 5, 832 1,944 1,944. 1,944 |REAR 37—
34460 I =L E L M 5 3, 499 146 146 146 | B B 24,8y
34100 /I L 70 14, 796 1,296 972 972 | =¥ 144 — =
34100 #AJK L 10 3, 240 1,620 1, 620 1,620 BEIRE 24—
34100 #AI B 20 2,376 594 594 594 |EIR B 448
34520 RE—< A M 2 1,404 1,404 1, 404 1,404 EIRE 17—
36600 7=FhE Lk 60 9,720 3,240 3,240  3,240|diEE = 34 —=
33400 L & X 34 4,838 70 54 54 | Rl 841
33600 /<& 1 270 54 54 54 | f& i 54
38100 LWzt 10 7, 047 76 70 == 100735 7
31310 AP 8 2,214 65 65 43 |18 [ 4048
31500 /a3 4 1,512 1,512 1,512 1,512 IR E 17—
31500 /M 12 3,294 59 54 54 IR E 604
32500 AoIF 1 1,080 1,080 1, 080 1, 080 | #& [ 1r—2
32500 AoiF 2 1,080 54 54. 54| K4y 205
37560 FHRIT 1 2,970 324 324 270 | K4y 1078y 2
38400 X DEH 30 5, 184 17 17 17 RS 3004%
38521 &SR L UH 3 3, 240 108 108 108 | & 3048
Y4005 AL 15 8, 964 8, 964 8, 964 8,964 | 7T AU B 1/ —XR
49200 /XA VT v T 10 1,728 216 216 216 74 U 8ff
aat 1,970 527,170
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